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Cosy Shawl 

 This shawl is simple, easy to knit, it does not require any 

specific point and allows to make a work of large size easily. 

Size of the shawl : 84cm/200cm 

Material : 

3 balls of Mohair Lady Print ,Schoppel Wolle  

or 4 balls of Soprane ,Cheval Blanc (knit with 2 threads at 

the same time) 

circular needles 7mm with a cable of 80cm minimum. 

2 stitch markers .A row counter. 

Beads, a fine hook (0.6 or 0.75mm), to finish the edge. 

Points : 

st : stitch 

M : stitch marker 

k : knit 

p: purl 

m1 : increase 1 stitch  

P2tog : purl 2 together 

SKP : slip 1, knit 1 , pass over. 

YO : yarn over 

R : row 

*….* : repeat the pattern between *….* as many time as it’s necessary 

http://lesaiguillesdecamille.com/product.php?id_product=16
http://lesaiguillesdecamille.com/category.php?id_category=46
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Work :  

Cast on   3 stitches. Knit 6 rows (but not turn the work after the last row). Make a rotation of the work 

of 90 ° and knit 3 stitches in the highly-rated of the bars of garter stitch (we obtain 6 stitches). Make 

again a rotation of 90 ° of your work clockwise, knit 3 stitches in the row of assembly. We obtain 9 

stitches. 

 (have a look at this video, it’s helpfull and in English !) 

First part : 

R1 :k3, m1, k3, m1, k3 (11st) 

R2 and all wrong side rows (unless otherwise specified) : k3, *purl*, finish with k3.  

R3 :k3, m1, k1, m1, M k3 M, m1, k1, m1, k3 (15st)  

R5 :k3, m1, k3, m1, M k3 M, m1, k3, m1, k3 (19st)  

R7 :k3, m1, k5, m1, M k3M, m1, k5, m1,k3(23st)  

R9 :k3, m1, k7, m1, M k3M, m1, k7, m1, k3 (27st)  

R11 :k3, m1, k9, m1, M k3 M, m1, k9, m1,k3(31st)  

R13 :k3, m1, k11, m1, M k3 M, m1, k11, m1,k3(35st)  

R15 :k3, m1, k13, m1, M k3 M, m1, k13, m1, k3 (39st)  

R17 :k3, m1, k15, m1, M k3 M, m1, k15, m1, k3 (43st)  

R19 :k3, m1, k17, m1, M k3 M, m1, k17, m1, k3(47st)  

R21 :k3, m1, k19, m1, M k3M, m1, k19, m1,k3(51st)  

R23 :k3, m1, k21, m1, M k3 M, m1, k21, m1, k3 (55st)  

R25 :k3, m1, k23, m1, M k3 M, m1, k23, m1, k3 (59st)  

R27 :k3, m1, k25, m1, M k3 M, m1, k25, m1, k3 (63st)  

R29 :k3, m1, k27, m1, M k3 M, m1, k27, m1,k3(67st)  

R31 :k3, m1, k29, m1, M k3 M, m1, k29, m1, k3 (71st)  

R33 :k3, m1, k31, m1, M k3 M, m1, k31, m1, k3 (75st)  

https://www.youtube.com/watch?v=3fTSJzlM3g8
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R35 :k3, m1, k33, m1, M k3 M, m1, k33, m1, k3 (79st)  

R37 :k3, m1, 35md, m1, M k3 M, m1, k35, m1, k3 (83st)  

R39 :k3, m1, k37, m1, M k3 M, m1, k37, m1, k3 (87st)  

R41 :k3, m1, k39, m1, M k3 M, m1, k39, m1, k3 (91st)  

R43 :k3, m1, k41, m1, M k3 M, m1, k41, m1, k3 (95st)  

R45 :k3, m1, k43, m1, M k3 M, m1, k43, m1,k3(99st 

Second Part : 

At the beginning of this part, take off the stitch markers, put them back at the row 55. 

R47 : k3, m1, (k4, m1) x23, k1, m1, k3 (124st) 

R49: k3, m1, (SKP, Yo) x59, m1, k3 (126st) 

R50 (wrong side row): k3, p1, (P2tog, Yo) x59, p1,k3(126st) 

R51: k3, m1, k1 (SKP, Yo) x59, k1, m1,k3(128st) 

R52 (wrong side row): k3, p2, (P2tog, Yo) x59, p2, k3 (128st) 

R53: k3, m1, (SKP, Yo) x61, m1, k3 (130st) 

R54 (wrong side row): k3, p1, (P2tog, Yo) x61, p1, k3(130st) 

R55 : k3, m1, k60, m1, M k4 M, m1, k60, m1, k3 (134st) 

R57 : k3, m1, k62, m1, M k4 M, m1, k62, m1, k3(138st) 

R59 : k3, m1, k64, m1, M k4 M, m1, k64, m1, k3 (142st) 

R61 : k3, m1, k66, m1, M k4 M, m1, k66, m1, k3 (146st) 

R63 : k3, m1, (k8, m1)x8, k4, m1, M k4 M, m1, k4,(m1,k8)x8, m1, k3(166st) 

Third part : 

At the beginning of this part, take off the stitch markers, put them back at the row 73. 

R65: k3, m1, (SKP, Yo) x80, m1, k3 (168st) 

R66 (wrong side row): k3, p1, (P2tog, Yo) x80, p1, k3 (168st) 
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R67: k3, m1, k1 (SKP, Yo) x80, k1, m1, k3(170st) 

R68 (wrong side row): k3, p2, (P2tog, Yo) x80, p2, k3(170st) 

R69: k3, m1, (SKP, Yo) x82, m1, k3 (172st) 

R70 (wrong side row): k3, p1, (P2tog, Yo) x82 p1, k3 (172st) 

R71: k3, m1, k1 (SKP, Yo) x82, k1, m1, k3(174st) 

R72 (wrong side row): k3, p2, (P2tog, Yo) x82, p2, k3 (174st) 

R73: k3, m1, k82, m1, M k4 M, m1, k82, m1, k3 (178st) 

R75: k3, m1, k84, m1, M k4 M, m1, k84, m1, k3 (182st) 

R77: k3, m1, k86, m1, M k4 M, m1, k86, m1,k3(186st) 

R79: k3, m1, k88, m1, M k4 M, m1, k88, m1, k3(190st) 

R81: k3, m1, k90, m1, M k4 M, m1, k90, m1, k3 (194st) 

R83: k3, m1, k92, m1, M k4 M, m1, k92, m1, k3 (198st) 

R85:k3, m1, k94, m1, M k4 M, m1, k94, m1, k3(202st) 

Fourth part : 

R87: k3, m1, (k12, m1)x8, M k4 M, m1 (k12, m1)x8,k3 (220st) 

R89: k3, m1, (SKP, Yo) x107, m1, k3(222st) 

R90 (wrong side row): k3, p1, (P2tog, Yo) x107, p1, k3 (222st) 

R91: k3, m1, k1 (SKP, Yo) x107, k1, m1, k3 (224st) 

R92 (wrong side row): k3, p2, (P2tog, Yo) x107, p2, k3(224st) 

R93: k3, m1, (SKP, Yo) x109, m1, k3 (226st) 

R94 (wrong side row): k3, p1, (P2tog, Yo) x109, p1, k3 (226st) 

R95: k3, m1, k1 (SKP, Yo) x109, k1, m1, k3 (228st) 

R96 (wrong side row): k3, p2, (P2tog, Yo) x109, p2, k3(228st) 

R97: k3, m1, (SKP, Yo) x111, m1, k3(230st) 
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R98 (wrong side row): k3, p1, (P2tog, Yo) x111, p1, k3 (230st) 

R99: k3, m1, k110, m1, M k4 M, m1, k110, m1, k3 (234st) 

R101: k3, m1, k112, m1, M k4 M, m1, k112, m1, k3 (238st) 

R103: k3, m1, k114, m1, M k4 M, m1, k114, m1, k3 (242st) 

R105: k3, m1, k116, m1, M k4 M, m1, k116, m1,k3(246st) 

R107: k3, m1, k118, m1, M k4 M, m1, k118, m1, k3 (250st) 

R109: k3, m1, k120, m1, M k4 M, m1, k120, m1, k3 (254st) 

R111: k3, m1, k122, m1, M k4 M, m1, k122, m1, k3 (258st) 

R113: k3, m1, k124, m1, M k4 M, m1, k124, m1, k3(262st) 

R115: k3, m1, k126, m1, M k4 M, m1, k126, m1, k3 (266st) 

Do the row 116. 

R117 : knit the first stitch, insert a bead in this stitch, then bind off flexibly 4 stitches. Begin again by 

following this rhythm (insert a bead, bind off 4st…) up to the front last stitch. Insert a bead and bind 

off the last stitch. Bring in the threads, cut them short. 

(you can have a look there to insert beads) 

If you want to enlarge this shawl, you can easily do it: 

Repeat the rows 89 à 92 three times (By not taking into account repetitions and numbers of stitches 

indicated of course!), then do 24 rows in repeating these 2 following rows : 

R1 : k3, m1, kX, m1, M k4 M, m1, kX, m1, k3 (X st) 

R2 : k3, pX, k3 

(X represent the number of stitches, it changes according to your progress.) 

http://www.tricotepastout.com/archives/2012/08/25/24964342.html

